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ME= 65| 20| | 2HA A=zl =2 | SHA (ke/CH912)
STG- 1 urat 13 6 6 47 m’ 9,909 9,042 3,921 22,872 2.24
STG- 2 it 15 6 6 45 m’ 11,429 9,042 3,997 24,468 2.47
STG- 3 13 6 6 47 m’ 10,971 15,114 6,319 32,404 2.24
STG- 4 | Of~ZE | zlytst 15 6 6 45 m’ 12,491 15,114 6,395 34,000 2.47
STG- 5 36 24 6 114 | m? 12,409 19,151 7,934 39,494 2.82
STG- 6 R 42 30 10 m 4,005 13,087 5,183 22,275 0.85
STG- 7 === 1 108 | 100 10 m 7,076 15,971 6,446 29,493 2.44
STG- 8 Z sk 13 6 6 47 m’ 18,674 11,509 5,320 35,503 2.24
STG- 9 Slurst 13 6 6 47 m 19,609 16,963 7,431 44,003 2.24
STG-10 | 2age | =°° 36 24 6 114 | m? 21,744 20,564 8,922 51,230 2.82
STG-11 . 42 30 6 m 5017 15,515 6,144 26,676 0.51
STG-12 e 108 | 100 6 m 10,745 20,567 8,372 39,684 1.47
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=T A = x210| x 2+AH =l T 2| 24| SHA| (kg/TH2l2H)
S B 9 X 4 x 51 m 5,168 6,493 2,752 14,413 1.41
M 253 Slurat 9 X 4 x 51 m 6,295 13,087 5,297 24,679 1.41
M 353 P == 30 X 5 X 120 m 7,837 16,126 6,553 30,516 2.35
M 453 = P 36 % 10 m 2,698 9,801 3,890 16,389 0.85
M 5@ [;Xj?)“ 60 x 10 m 3,717 11,954 4,757 20,428 1.41
M 653 A 108 %X 10 m 5,480 14,385 5,758 25,623 2.54
M 753 Z oot 9 X 4 x 5] m 9,758 9,769 4,196 23,723 1.41
M 853 2lulok 9 X 4 x 51 m 10,585 14,530 6,067 31,182 1.41
M 9sx | 2aglE - 36 X 5 m 3,605 13,087 5,163 21,855 0.42
M105 3% [E'Exrlon 60 X 5 m 4,861 15,114 6,014 25,989 0.71
M1 TAE 108 X 5 m 7,052 17,118 6,878 31,048 1.27
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Zx 20| x 20| WIEEE E 2| AU SHA (kg/TH2 26
M1E% ofrZe 150 X 150 X 9 m 8,369 6,252 2,681 17,302 1.90
M2s = Z3gE 150 X 150 x 9 m 12,847 11,098 4,615 28,560 1.90
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Zx210] WIGTE E 2| A SHA (kg/TH2 2
M1s3E ofrze 200 X 5 m 8,223 4,753 2,232 15,208 2.35
M2s T EERIS 200 X 5 m 11,651 9,516 4,234 25,401 2.35
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= A Z X 210]x 20| ST 2| Al ] (ke/EH512h)
M1s% oprge 400 x 180 X 13 | m 4,352 2,133 657 7,142 4.90
M2s® Z3agle 400 X 180 X 13 | m 6,630 5,263 1,396 13,289 4.90
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